

4.4.12 2.2

$$u = 2 \int_1^x (X U'' + Y V'') dx$$

$$v = 2 \int_1^x (X V'' + Y U'') dx$$

$$s = 2 \int_1^x (X Z'' + Y W'') dx$$

$$2\pi U'' = \frac{\partial}{\partial y} (k_f R_1 \bar{\Phi}) + 2B \bar{\Phi} \quad V_2 = -\frac{\partial}{\partial x} (k_f R_1 \bar{\Phi})$$

$$2\pi V'' : 2\pi U'' = \frac{\partial}{\partial y} (k_f R + \bar{\Phi})$$

$$\bar{\Phi} = K_0 e^{b(x-x_0)} = \sqrt{\frac{\pi}{2k_f(x-x_0)}} e^{-\frac{k_f}{2(x-x_0)^2}}$$

$$Z'' = -\frac{k_f}{\pi} \frac{\partial}{\partial y} \bar{\Phi}, \quad Z'' = \frac{k_f}{\pi} \frac{\partial}{\partial x} \bar{\Phi}$$

B. C.) $u = -1, \quad v = \alpha \quad \text{for } |x| < 1,$

$$[u = u_1 + u_2, \quad v = v_1 + v_2]$$

$$\begin{bmatrix} u_1 = -1, & u_2 = 0 \\ v_1 = 0, & v_2 = \alpha \end{bmatrix}$$

$$u_1 = -1 = 2 \int_{-1}^x X U'' dx \approx \frac{2k_f}{\pi} \sqrt{\frac{\pi}{2k_f}} \int_{-1}^x \frac{X(x) dx}{\sqrt{x-x_0}} dx$$

$$v_1 = 0 = 2 \int_{-1}^x X U'' dx =$$

$$u_2 = 0 = 2 \int Y V'' dx = 2 \int Y \left(\frac{\partial}{\partial y} (k_f R + \bar{\Phi}) \right) dx$$

$$v_2 = \alpha = 2 \int Y V'' dx = \frac{-1}{\pi} \int Y \frac{\partial}{\partial x} k_f R dx$$

平版複

$$u=0, v=1$$

$$\left. \begin{aligned} u_p &= \frac{1}{\pi} \int_0^1 Y \frac{x-x'}{R^2} dx \\ u_p &= +\frac{1}{\pi} \int_0^1 Y \frac{y'}{R^2} dx \end{aligned} \right\} = \frac{1}{\pi} \int_0^1 \frac{Y dx}{x-x'} = Y \operatorname{sgn}(y')$$

$$\left. \begin{aligned} u_H &= \frac{1}{\pi} \int_0^1 Y \frac{\partial \Phi}{\partial y} dx \\ v_H &= -\frac{1}{\pi} \int_0^1 Y \frac{\partial \Phi}{\partial x} dx \end{aligned} \right\} \left\{ \begin{aligned} Y &= -\sqrt{\frac{1-x}{x}} - \frac{1}{\sqrt{x(1-x)}} \\ &= -\frac{2-x}{\sqrt{x(1-x)}} = \frac{2}{\sqrt{x}} \\ 1-x &= \frac{1}{4}(1-\cos\theta) \end{aligned} \right.$$

$$x = \frac{1}{2}(1+\cos\theta), \quad Y = -\frac{1+\cos\theta}{\sqrt{1-\cos\theta}} = -\frac{1+\cos\theta}{\sqrt{2}\sin\frac{\theta}{2}} = -\frac{2\cos^2\frac{\theta}{2}}{\sqrt{2}\sin\frac{\theta}{2}} = -\frac{\sqrt{2}\cos\frac{\theta}{2}}{\sin\frac{\theta}{2}} = -\sqrt{2}\cot\frac{\theta}{2}$$

$$Y = -\sqrt{\frac{1-x}{x}} = -\sqrt{\frac{1-\cos\theta}{1+\cos\theta}} = -\frac{\sin\frac{\theta}{2}}{\cos\frac{\theta}{2}} = -\tan\frac{\theta}{2}$$

$$\begin{aligned} u_F &= -\frac{1}{\pi} \sqrt{\frac{\pi}{2b}} \frac{\partial}{\partial y} \int_0^1 \sqrt{\frac{1-x}{x}} \frac{e^{-\frac{b(y-y')^2}{2(x-x')}}}{\sqrt{x(1-x)}} dx \\ &= +\frac{1}{\sqrt{2\pi b}} \frac{\partial}{\partial y'} \int_0^1 e^{-\frac{y'^2}{2(x-x')}} \frac{\sqrt{1-x} dx}{\sqrt{x(1-x)}} \\ &= +\frac{b y'}{\sqrt{2\pi b}} \int_0^1 e^{-\frac{b y'^2}{2(x-x')}} \frac{\sqrt{1-x} dx}{\sqrt{x(1-x)^3}} \end{aligned}$$

$$\frac{dy'^2}{2(x-x')} = \eta^2, \quad \eta = \sqrt{\frac{b}{2}} \frac{y'}{\sqrt{x(1-x)}}, \quad d\eta = \frac{1}{2\sqrt{2}} \frac{y' dx}{(x-x')^2}$$

$$\therefore u_F = +\frac{2}{\sqrt{\pi}} \int_{\eta_0}^{\infty} e^{-\eta^2} \sqrt{\frac{1-x}{x}} d\eta, \quad \eta_0 = \frac{b y'^2}{2x}, \quad x = x' - \frac{b y'^2}{2\eta^2}$$

$$\eta^2 = \eta_0^2 + u^2, \quad \eta d\eta = u du, \quad d\eta = \frac{u du}{\sqrt{\eta_0^2 + u^2}}$$

$$\sqrt{\frac{1-X}{X}} = \sqrt{\frac{1-X'}{X' - \frac{\eta_0^2}{2(\eta_0^2 + u^2)}}} = \sqrt{\frac{1-X'}{X'}} \sqrt{\frac{\eta_0^2 + u^2 + \frac{\eta_0^2}{2}}{\eta_0^2 + u^2 - \frac{\eta_0^2}{2}}}$$

$$\sqrt{\frac{1-X}{X}} d\eta = \sqrt{\frac{1-X'}{X'}} du \sqrt{\frac{\eta_0^2 + \eta_0^2 + u^2}{\eta_0^2 + u^2}}$$

$$\xrightarrow{u \rightarrow 0} \frac{du}{\sqrt{X'}}$$

$$u_H = \frac{1}{\sqrt{\pi}} + \frac{2}{\sqrt{\pi}} \frac{e^{-\eta_0^2}}{\sqrt{X'}} \int_0^\infty e^{-u^2} du = \frac{1}{\sqrt{X'}} \xrightarrow{u \rightarrow 0} \frac{1}{\sqrt{X'}}$$

$$\frac{d\eta}{\sqrt{X(1-X)}} = \frac{1}{\sqrt{X'(1-X')}} \frac{u du}{\sqrt{\eta_0^2 + u^2}} \xrightarrow{u \rightarrow 0} \frac{du}{\sqrt{X'(1-X')}} \frac{1}{\sqrt{1 + \frac{X'}{1-X'}}} = \frac{du}{\sqrt{X'}}$$

$$v_F = \frac{1}{\sqrt{2\pi k}} \frac{2}{\partial X'} \int_0^{X'} e^{-\frac{k y'^2}{2(X'-X)}} \frac{\sqrt{1-X} dX}{X(X'-X)}$$

$$= \frac{1}{\sqrt{2\pi k}} \frac{k y'^2}{2} \int_0^1 e^{-\eta^2} \frac{\sqrt{\frac{1-X}{X}}}{(X'-X)^{3/2}} dX = \frac{2}{\sqrt{\pi k y'}} \int_{\eta_0}^\infty \sqrt{\frac{1-X}{X}} e^{-\eta^2} d\eta$$

$$\frac{k y'^2}{2(X'-X)(X-X)^{3/2}} = \frac{2\sqrt{k} y'^2 d\eta}{\sqrt{\pi} y'}$$

$$v_H = \frac{2}{\sqrt{\pi k y'}} \frac{e^{-\eta_0^2} \eta_0^2}{\sqrt{X'}} \int_0^\infty e^{-u^2} du = \frac{e^{-\eta_0^2} \eta_0^2}{k y' \sqrt{X'}} = \frac{\sqrt{k} y'^2}{2 X'^{3/2}} e^{-\eta_0^2}$$

$$f = 2 k v_H = \frac{k y'}{X'^{3/2}} e^{-\eta_0^2} = - \frac{\partial u_H}{\partial y} = \frac{\sqrt{2k}}{X} \eta_0 e^{-\eta_0^2}$$

$$u = -1, \quad v = 0$$

$$\left. \begin{aligned} u_p &= -\frac{1}{\pi} \int_0^{x'} \frac{dx}{x-x'} \\ v_p &= \frac{1}{\pi} \int_0^{x'} \frac{y'}{(x-x')^2} dx \end{aligned} \right\} \rightarrow = X \operatorname{erfc}(y')$$

$$\left. \begin{aligned} u_F &= -\frac{1}{\pi} \int_0^{x'} X \left(2h\bar{\Phi} - \frac{\partial \bar{\Phi}}{\partial x} \right) dx, \\ v_F &= +\frac{1}{\pi} \int_0^{x'} X \frac{\partial \bar{\Phi}}{\partial y} dx, \end{aligned} \right\}$$

$$u_F = -\frac{\sqrt{2k}}{\pi} \int_0^{x'} X \left(-1 - \frac{y'^2}{4(X-x')^2} \right) \frac{dx}{\sqrt{x-x'}}$$

$$u_F = -\frac{1}{\pi} \int_0^{x'-y_0^2} \frac{X' - y_0^2}{\sqrt{x'(x-x')}} dx = -\frac{\sqrt{2k}}{\pi} \frac{y'}{\sqrt{x'}} \int_{y_0^2}^{x'} \frac{e^{-y^2}}{\sqrt{y^2 - y_0^2}} dy = -\frac{2}{\pi} y_0' e^{-\frac{y_0'^2}{2}} \int_{y_0^2}^{x'} \frac{e^{-y^2}}{y^2 - y_0^2} dy$$

$$\frac{dx}{\sqrt{x-x'}} = \frac{2\sqrt{2}}{\sqrt{k}} \frac{x-x'}{y'} dy = \sqrt{2k} \frac{y'}{y^2} dy$$

$$\frac{1}{\sqrt{x}} = \frac{1}{\sqrt{x-x'} + y_0'^2} = \frac{y'}{\sqrt{x-x'} + y_0'^2} \quad y_0' = \frac{\sqrt{2k}}{\sqrt{2k}} y' = y'$$

$$y^2 - y_0^2 = u^2, \quad y dy = u du \quad dy = \frac{u du}{\sqrt{y_0^2 + u^2}}$$

$$\frac{dy}{\sqrt{y^2 - y_0^2}} = \frac{u du}{(y_0^2 + u^2) u} = \frac{du}{y_0^2 + u^2}$$

$$u_F = -\operatorname{erfc}(y_0') \quad \text{公式 5.11}$$

$$u_p = -\frac{1}{\pi \sqrt{2k}} \int_0^{x'} \frac{dx}{\sqrt{x(x-x')}} = 0 \left(\frac{1}{\sqrt{2k}} \right)$$

$$v_F = \frac{\sqrt{2k}}{\sqrt{\pi X}} (1 - e^{-\frac{y_0'^2}{2}})$$

$$2y = \sqrt{2k}$$

$$\left\{ = \frac{\sqrt{2k}}{\sqrt{\pi X}} \right\}$$

$$\int \frac{\phi_y}{v_{21}^2} \tilde{u}_{21} dx dy = \int \phi G dx - \int \phi \tilde{u}_y dx dy$$

No.

Date

$$\begin{aligned} S_1(\tilde{u}_1 - u_1 \tilde{u}_1) &= \sqrt{\frac{2k}{\pi X'}} \left[\frac{1}{\sqrt{2\pi k X'}} (1 - e^{-\eta^2}) \operatorname{erfc}(\eta') \right. \\ &\quad \left. + \operatorname{erfc}(\eta) \frac{(1 - e^{-\eta'^2})}{\sqrt{2\pi k (1+X')}} \right] \\ &= \frac{1}{\pi} \left[\frac{1}{X'} (1 - e^{-\eta^2}) \operatorname{erfc}(\eta') + \frac{(1 - e^{-\eta'^2}) \operatorname{erfc}(\eta)}{\sqrt{X'(1+X')}} \right] \end{aligned}$$

$$\begin{aligned} S_2(v_2 \tilde{u}_1 - u_2 \tilde{u}_1) &= \alpha \sqrt{\frac{2k}{X'}} \eta e^{-\eta^2} \left[\left(1 + \frac{\eta e^{-\eta^2}}{\sqrt{2k} X'}\right) \operatorname{erfc}(\eta') \right. \\ &\quad \left. - \left(-\sqrt{\frac{1-X'}{X'}} + \frac{e^{-\eta^2}}{\sqrt{X'}}\right) \frac{(1 - e^{-\eta'^2})}{\sqrt{2k(1+X')}} \right] \end{aligned}$$

$$\begin{aligned} S_1(v_2 \tilde{u}_2 - u_2 \tilde{u}_2) &= \alpha \sqrt{\frac{2k}{X'}} \left[\left(1 + \frac{\eta'}{X'^{3/2}} e^{-\eta'^2}\right) \left(\sqrt{\frac{X'}{1+X'}} - \frac{e^{-\eta'^2}}{\sqrt{1+X'}}\right) \right. \\ &\quad \left. - \left(\sqrt{\frac{1-X'}{X'}} - \frac{e^{-\eta^2}}{\sqrt{X'}}\right) \left(1 + \frac{\eta'}{(1+X')^{3/2}} e^{-\eta'^2}\right) \right] \end{aligned}$$

$$\begin{aligned} S_2(v_1 \tilde{u}_2 - u_1 \tilde{u}_2) &= \alpha \sqrt{\frac{2k}{X'}} \eta e^{-\eta^2} \left[\frac{1}{\sqrt{2\pi k X'}} (1 - e^{-\eta^2}) \left(\sqrt{\frac{X'}{1+X'}} - \frac{e^{-\eta'^2}}{\sqrt{1+X'}}\right) \right. \\ &\quad \left. - \operatorname{erfc}(\eta) \left(1 + \frac{\eta'}{(1+X')^{3/2}} e^{-\eta'^2}\right) \right] \end{aligned}$$

$$= -\alpha \sqrt{2k} \int_{-\infty}^{\infty} \eta e^{-\eta^2} \operatorname{erfc}(\eta) d\eta$$

$$\eta = \frac{\sqrt{k}}{\sqrt{2X'}} \eta', \quad \frac{d\eta}{\sqrt{X'}} = \sqrt{\frac{2}{k}} d\eta'$$

$$= -2\alpha \int_{-\infty}^{\infty} \frac{dX'}{\sqrt{X'}} \int_0^{\infty} \eta e^{-\eta^2} \operatorname{erfc}(\eta) d\eta$$

$$= -2\alpha \left(1 - \frac{1}{\sqrt{2}}\right)$$

$$u = u_1 + u_2, \quad v = v_1 + v_2$$

$$\hat{u}_1 = u_1 = -1, \quad v_1 = 0 = \hat{v}_1, \quad \hat{u}_1^2 = 1$$

$$\hat{u}_2 = u_2 = 0, \quad v_2 = \alpha = \hat{v}_2, \quad \hat{v}_2^2 = -\alpha$$

$$u = \hat{x}_1, \quad \hat{v}_1 = 0, \quad \hat{x}_2 = 0$$

$$\int_C (X + \hat{x}_1) ds = -P \iint_D (v \hat{u}_1 - u \hat{v}_1) ds$$

$\hat{x}_1 = 0$

$$\int_C (-\alpha \hat{x}_2 - (\hat{x}_2 + \alpha \hat{x}_2)) ds = -P \iint_D (v \hat{u}_2 - u \hat{v}_2) ds$$

$\hat{x}_2 = 0$

$$\int_C (X + \hat{x}_1) ds = - \iint_D (v \hat{u}_1 - u \hat{v}_1) ds = -2 \iint_D$$

$$-\alpha \int_C (\hat{x}_2 + \hat{x}_2) ds = - \iint_D (v \hat{u}_2 - u \hat{v}_2) ds$$

$$u = u_1 + u_2, \quad v = v_1 + v_2, \quad \zeta = \zeta_1 + \zeta_2$$

$$\zeta v = \zeta_1 v_1 + \zeta_1 v_2 + \zeta_2 v_1 + \zeta_2 v_2$$

$$\zeta u = \zeta_1 u_1 + \zeta_1 u_2 + \zeta_2 u_1 + \zeta_2 u_2$$

Even and odd

ζ_1 : odd ζ_2 : even
 u_1 : even u_2 : odd
 v_1 : odd v_2 : even

$\zeta_1 v_1$: even $\zeta_2 v_2$: even
 $\zeta_1 u_1$: odd $\zeta_2 u_2$: odd
 $\zeta_1 v_2$: odd $\zeta_2 v_1$: odd
 $\zeta_1 u_2$: even $\zeta_2 u_1$: even

odd
 $(\zeta_1 v_2 + \zeta_2 v_1) \hat{u}_1$: odd
 $(\zeta_1 v_2 + \zeta_2 v_1) \hat{u}_2$: even
 $(\zeta_1 u_2 + \zeta_2 u_1) \hat{v}_1$: odd
 $(\zeta_1 u_2 + \zeta_2 u_1) \hat{v}_2$: even
 $(\zeta_1 v_1 + \zeta_2 v_2) \hat{u}_1$: even
 $(\zeta_1 v_1 + \zeta_2 v_2) \hat{u}_2$: odd
 $(\zeta_1 u_1 + \zeta_2 u_2) \hat{v}_1$: even
 $(\zeta_1 u_1 + \zeta_2 u_2) \hat{v}_2$: odd



$\tilde{u}_1, \tilde{v}_1$
 $\tilde{u}_2, \tilde{v}_2$

No.

Date

$$\int_C (X + \tilde{X}_1) dS = -2 \iint_{\frac{D}{2}} [(s_1 v_1 + s_2 v_2) \tilde{u}_1 - (s_1 u_1 + s_2 u_2) \tilde{v}_1] dx dy$$

α^2 negligible

$$= -2 \iint_{\frac{D}{2}} (s_1 (u_1 \tilde{u}_1 - u_1 \tilde{v}_1)) dx dy \quad \text{--- } \tilde{u}_1 \text{ and } \tilde{v}_1 \text{ are } O(\alpha^2)$$

$$- \alpha \int_C (Y + \tilde{Y}_1) dS = -2 \iint_{\frac{D}{2}} [(s_1 v_2 + s_2 v_1) \tilde{u}_2 - (s_1 u_2 + s_2 u_1) \tilde{v}_2] dx dy$$

$$\tilde{u}_2 = \tilde{u}_{2p}, \quad \tilde{v}_2 = \tilde{v}_{2p} \quad \text{--- } \text{at } y=0$$

$$\eta_0 = \frac{h y'^{1/2}}{2 \sqrt{1+X}}$$

$$u_1 = u_{1F} = -\operatorname{erfc}(\eta_0)$$

$$v_1 = v_{1F} = \sqrt{\frac{1}{2\pi k X}} (1 - e^{-\eta^2})$$

$$s_1 = \sqrt{\frac{2k}{\pi X}} (1 - e^{-\eta^2}) \quad \eta$$

$$u_2 = u_{2p} + u_{2F}, \quad u_{2p} = -\sqrt{\frac{1-X}{X}} \alpha$$

$$u_{2F} = \frac{e^{-\eta^2}}{\sqrt{X}}$$

$$v_2 = v_{2p} + v_{2F} = \alpha \frac{1}{X^{1/2}} e^{-\eta^2}$$

$$s_2 = 2k v_{2F} = \alpha \frac{2k}{X^{1/2}} \eta e^{-\eta^2}$$

after warlike η'^2

$$u_{2p} = 0 \text{ for } y'=0$$

$$v_{2p} = \frac{1}{\sqrt{kX}}$$

$$y' > 0$$

$$\tilde{u}_1 = \operatorname{erfc}(\eta') \quad \eta' = \frac{h y'^{1/2}}{2(1+X')}$$

$$\tilde{v}_1 = \sqrt{\frac{1}{2\pi k X'}} (1 - e^{-\eta'^2})$$

$$s_2 = \sqrt{\frac{X'}{1+X'}} - \frac{e^{-\eta'^2}}{\sqrt{1+X'}}$$

$$\tilde{v}_2 = -\frac{1}{\sqrt{kX'}} - \frac{y'}{(1+X')^{3/2}} e^{-\eta'^2}$$

$$\tilde{s}_2 = 2k \tilde{v}_{2F} = -\alpha \frac{\sqrt{2k}}{1+X'} \eta' e^{-\eta'^2}$$

$$\int_0^{\infty} y e^{-y^2} \operatorname{erfc}(y) dy = \frac{1}{2} e^{-y^2} \operatorname{erfc}(y) \Big|_0^{\infty} + \frac{1}{\sqrt{\pi}} \int_0^{\infty} e^{-2y^2} dy \quad \sqrt{2}$$

$$= \frac{1}{2} \left(1 - \frac{1}{\sqrt{2}}\right) \frac{\sqrt{\pi}}{2}$$

$$\int_0^1 \frac{dx'}{\sqrt{x'}} = 2\sqrt{x'} \Big|_0^1 = 2$$

$$\frac{1}{x'} = t \quad dx' = -\frac{dt}{t^2}$$

$$\int_1^{\infty} \frac{dx'}{\sqrt{x'} \sqrt{1+x'}} = \int_0^1 \frac{\sqrt{t} dt}{t^2 \sqrt{1+\frac{1}{t}}} = \int_0^1 \frac{dt}{t \sqrt{1+t}}$$

$$\int_1^{\infty} \frac{dx'}{x' \sqrt{1+x'}} = \int_0^1 \frac{dt}{\sqrt{t} \sqrt{1+t}} = 2 \int_0^1 \frac{du}{\sqrt{1+u^2}} =$$

$$u = u^2$$

?

$$\int_0^{\infty} e^{-y^2} dy = \frac{1}{2} e^{-y^2} \Big|_0^{\infty} = \frac{1}{2}$$

$$\int_0^{\infty} e^{-2y^2} dy = \frac{1}{4}$$

$$\frac{\sqrt{1-x}}{\sqrt{x}} dx$$

$$\sqrt{\frac{2-k}{\pi X'}} \sqrt{\frac{X'}{1-X'}} \int_0^{\infty} e^{-y'^2} dy' = \frac{2}{\sqrt{\pi}} \sqrt{\frac{X'}{1-X'}} \int_0^{\infty} e^{-y'^2} dy' = \sqrt{\frac{X'}{1-X'}}$$

$$\int_0^1 \sqrt{\frac{X'}{1-X'}} dx' = 2 \int_0^1 \sqrt{1-t^2} dt = 2 \int_0^{\frac{\pi}{2}} \cos^2 \theta d\theta = \int_0^{\frac{\pi}{2}} (1 + \cos 2\theta) d\theta$$

$$\sqrt{1-X'} = \cos \theta \quad \frac{dx'}{2\sqrt{1-X'}} = d\theta \quad = \frac{\pi}{2} + \frac{\sin 2\theta}{2}$$

$$\frac{5\pi}{2} //$$

$$X' = 1 - t^2$$

$$\frac{dx'}{2X'} y'^2 = y'^2$$

$$\sqrt{\frac{2-k}{\pi X'}} \sqrt{\frac{X'}{1-X'}} \frac{y'}{X'^2} e^{-2y'^2} dy' = \sqrt{\frac{2}{\pi k}} \frac{2}{\sqrt{1-X'} \sqrt{X'}} \int_0^{\infty} e^{-2y'^2} y' dy'$$

$$= \frac{1}{\sqrt{\pi k}} \frac{d}{\sqrt{X'(1-X')}} \quad \frac{dx'}{\sqrt{X'(1-X')}} = 2 \int_0^{\frac{\pi}{2}} \frac{2 \cdot 0 \cdot \cos \theta d\theta}{2 \cos \theta} = \pi //$$

$$\int_0^1 \frac{dx'}{\sqrt{X'(1-X')}} = 2 \int_0^{\frac{\pi}{2}} \frac{2 \cdot 0 \cdot \cos \theta d\theta}{2 \cos \theta} = \pi //$$

$$\frac{1}{\sqrt{2\pi k}} \int_0^1 \frac{dx'}{\sqrt{X'(1-X')}} = \frac{\sqrt{\pi}}{\sqrt{2k}} //$$

$$D = \frac{2\sqrt{2}}{\sqrt{\pi k}} \quad \frac{\sqrt{2\pi}}{\sqrt{k}} = \frac{\sqrt{2}\pi}{\sqrt{\pi k}} = \frac{\pi D}{2}$$

$$\int \int \frac{\sqrt{2-k}}{X'} \sqrt{\frac{1}{2\pi k X'}} e^{-y'^2} (1 - e^{-y'^2}) dy' = \frac{1}{\sqrt{\pi}} \sqrt{\frac{2}{k}} \int_0^1 \frac{dx'}{\sqrt{X'(1-X')}} \int_0^{\infty} y' e^{-y'^2} (1 - e^{-y'^2}) dy'$$

$$\left(\frac{1}{2} - \frac{1}{4} \right) = \frac{1}{4}$$

$$= \frac{1}{2\sqrt{2\pi k}} \int_0^1 \frac{dx'}{\sqrt{X'(1-X')}} = \frac{\sqrt{\pi}}{2\sqrt{2k}} //$$

$$\frac{3\pi}{2} = \pi + \frac{3\pi}{2} D$$

$$\frac{180}{4\pi}$$

$$X' = 1 - t^2 \quad \frac{dx'}{2X'} = \frac{-2t dt}{2(1-t^2)} = \frac{-t dt}{1-t^2}$$